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I Vardan Limited Produced and sold 10,000 ‘walkman’ during 2018. 20
The particulars are as under. Selling price per unit is Rs. 780.

Particulars

Materials

Direct Wages

Direct Expenses

Factory Expenscs (40% variable)
Office Expenses (fixed)

Selling Expenses (70% variable)

Rs.

26,00,000

14,00,000

2,00,000

14,00,000

5,60,000
6,40,000

During the year 2019 production and sale is estimated at 50,000 ‘walkman’.

The additional information is as under. :
(1) Direct wage per unit will decrease by 20%.

(2) Fixed factory expenses will increase by Rs. 6,00,000.

(3) Office expense will increase by 25%.

(4) Variable selling expenses will rise by Rs. 1.60 per unit.

(5) 25% profit is estimated on cost.

Prepare cost sheet for both the year.
OR
I(A) Discuss the various methods of costing.
(B) State the Objectives of Cost Accounting.
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2 (A) From the following transactions of purchases and issues of materials
during the period from 1% January, 2019 to 31" March, 2019, Prepare stock

Regleter as per. FIFO and LIFO mcthod

Pu rehases - :' _ Issues ]
Date Units | Rate per Date Units
| umit |
03-01-2019 4,000 | 5.00 | 01-02-2019 2,000
23-01-2019 | 500 “ 4.00 ' 15-02-2019 4,000
09-02-2019 6,000 | 6.00 : 03-03-2019 1,000
13-03-2019 4,500 ‘ 5.00 | 20-03-2019 | 5,000

Additional Information :
(1)Stock on 1* January, 2019 was 1,000 Units at the rate of
Rs. 4.00 per unit.
(2)From the issues on 3™ March 200 units have been returned
back to stores on 5™ March.

(3) Physical checking of stores on 31% march shown shortage of 100 Units.

15

{B) Write a short note : Bincard 5
OR
2 (A) The following information is extracted from the record of 15
Gunjan co., Ltd. For the month of March 2019.
Number of employees at the beginning of the month............ 1900
Number of employees at the end of the month..................... 2,100
Number of employees resigned.............ooi 20
Number of employees discharged. ... 60
Number of employees replaced in the vacancies.................co... 40
Number of employees appointed due to expansion scheme............240
Calculate the labour turnover rate and equivalent annual rate as per
following methods :
1) Separation Method
2) Replacement Method
3) Flux Method <
(B) Write a short note : Rowan bonus plan -
3 (A) In a Soap factory there are three production department A, B, and C and two 13
service department D and E. The details of the expenses during march, 2019 are
as under :
Indirect wages............ Rs. 3,000 Insurance............... Rs. 1,500
Canteen expenses...... Rs. 4,500  Lighting expenses...... Rs. 2,000
Rent and rates......... Rs. 3,800  Contribution to ESI... Rs. 1,000
Depreciation............ Rs. 12,000  Power expenses...... Rs. 22,500
Other Information: -
Particulars A | B I ¢ | b E |
LightingPoints | 6 | 4 + 4 1 3 3|
| Direct Wages (Rs.) | 6,000 | 5,000 | 4,000 | 3.00( 2,000 |
| Cost of Machine(Rs.) | 72,000 | 48, 000 | 36,000 | ]2000 12,000 |
| Horse Power (k.w.) | 6 | 6 | 3 - - 1
Spd(,e OCLupled (sg.ft.) | 600 | 400 _ 500 200 200 !
| Number of Workers 5 6 | 4 | 2 1 ]
N-9480 | 5 [ Contd....



The benefits of service department D and E derived by the other

departments in the following proportion :
Particulars A B C D E
Department D 40% | 30% | 20% - 10%
Department E 30% 40% | 30% - -

Prepare the statement showing :
1) Distribution of overheads to various departments. And
2) Distribution of expenses of service departments to production
departments.
(B) Write a note on : Machine Hour Rate. 5
OR
3 (A) Following are the details of Jaymal Transport Company for the month of 15
February 2019, which has a truck of 10 ton capacity. :

Cost of truck (Rs.) 10,00,000 | Road tax (yearly) Rs. 36,000
Estimated life R years | Repairs & Mainienance (Rs.) 30,000
Realization value at the end of —-—- | [nsurance 3% pa
life (Rs.) 40,000 | Consumption of Diesel 1 titer for 10 Km
Office staff salary (Rs.) 12,000 | Consumption of Oil 1 liter for 400 Km

2 Cleaner's salary (each of Rs.) 2,000 | Price of Diesel (per liter Rs.) 50

2 Driver's salary (each of Rs.) [ 3,500 | Price of Ol (per liter Rs.) 100
Rent of godown (yearly) Rs. 60,000 | Sundry Expense (Rs.) 18,900 |

The truck carries goods to and fro cities within the coverage area of 150 km
onward trip, freight is available to the extent of 80% of capacity and on return
trip, and freight is available to 50% of capacity. Truck runs all the day of month.
Work out :

(1) Operating cost-sheet per ton-km.

(2) Rate per ton to earn a profit of 50% on freight.

(B) What is 'operating cost' ? Show in which industries it can be applied. ? 5
4 (A) The product passes through two different processes and thereafter it is 15

transferred to finished stock account. The following information is available for

the month of January 2019. .
particular Process A | Process B
(Rs.) (Rs.)
Units introduced 10,000 units 10,000 -
Material 12,000 6,000
Wages 14,000 8,000
Manufacturing expenses 4,000 4,000
Actual Production (in imits) 9,400 8,300
Normal Wastage (of units introduced) 5% 10%
Value of normal wastage (per 100 Units) 8 i0
Prepare Process accounts and abnormal wastage or abnormal gain account.
(B) Write a short note : By-product 5
OR
4 (A) What is job costing ? Explain its procedure. 10
(B) Explain the meaning of batch costing and in which industries is it applied ? 10

5 (A) The following information is given relates to contract of a building. The contract 15
price is Rs. 8,00,000.

Particular 2018 2019

Material issued 2,40,000 67,200
Direct wages 1,884,000 84,000
Direct expenses 17,600 8,000
Indirect expenses 4,800 1,120
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| Plant issued | 11,200 | 1,600 |
Certified work | 6,00,000 | 800,000 |
| Uncertified work | 6400 | -
Material on site | 4,000 5.600
| Cash received from contractee | 4,80,000 | 8,00,000 |

The vah]e of plant at the end of the year 2018 and 2019 were Rs. 5,600 and

Rs. 4,000 respectively. Transferring 2/3 profit of cash to profit and loss account.
Prepare contract account for both the year.

(B) Write a short note : Work in progress account. 5

OR
5 (A) State the essential features of cost audit. In what respect is cost audit different 10
from financial audit ?
(B) Discuss the causes of difference between costing profits and financial profits. 10
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